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1. Thelower sum for f(z)=1-2% —1<z2<1,withn=41is
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2. Using right endpoints, the area of the region that lies under the graph
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4
3. The graph of g is shown (figure 1). The estimate of /_ ” g(z) dz with six
subintervals using left endpoint is

(a) = (correct)
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5 HFz)= L ) f(t) dt, where f is the function whose graph is
given (figure 2).
Which of the following values is largest?
F(0), F(1), F(2), F(3) and F(4)
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6. Forze (—2-,5), EE[/;anm(t-tan t)dt] =

(a) xsec® r—tanx sec’ z ()
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(d) (tan z —tan'z) sec’ z
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7. H 6+/:‘-ft(7t)dt=2\/5,$20, then f(z) +a=

(a) 9+ Va3 T§ 7\_,____- O ____ (correct)
(b) 9+ V2 = e
.
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12
7;.’1?—1 -
9. fPg—de=

: e
@ 3 1 8
(b) o 5 A ’—\ OQ
. %
© 3 2 (;’\)(7\1%\)
8
@ 3 | V3
() 1 \
%—k\&x = b"\\/\ 7‘)}
S ﬁf‘f%/ 5, L
‘—*‘*0\\0 J@ Jm\
10. /{)/2_Li_1rzc2)_sa;_xdz= uo
£ R L e P S T Tl o B ==
(b) tan!(In 2)
(c) In(1+ ¢) — | 2swWwX @YX OL
—In(1+e) z—-‘-)-}g.. x
(e) 1—1In2 l—\—(Q% >\

B ) .
oS X
[Q/'t qiJc Co< >g\\\XO&x
| (L;—__%X —\ thk ‘ﬁ:ﬁﬁ -—-S\\x\x&}\

”’%fﬁ‘g@% S j,w hx~—

-—-\\I\&\ +UE; > [\\x\( BE )5}

Nl o) L=\



Term 212, Math 102, Major Exam 1 Page 6 of 9 MASTER
1. [2*V2+zde=

(a) %(az +2)7 ~ —85-(3: +2)%2 4 g(x +2)¥24+C r/m
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12 ](;2 cos z sin(sin z) dzr =

(a) 1—cosl Z/ ' (correct)
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13.  The area of the shaded region in (figure 3) is equal to: — 15 q é... l
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15.  The region bounded by the curve y = 2% 4+ 1 and the line y = —z + 3 is
revolved about z-axis to generate the solid S. The volume of S is equal

to:
@ W x’\k\ i ——X%B
(b) lsﬂw X _\—\)\ —L=o "_‘3 X= ’Z) )
109 » : S X*\> CX
(d) = \ s

16. The volume of the solid formed by revolving the region bounded by the
graphs of f(z) = 2 — 2% and g(z) = 1 about the line y = 1, is given by

(@) « [ (1-2)’de s
(b) 2m [01(1 + z2)%dzx EQ\) = g—(?q __9()9
(c) ’Il'[l 1 =~z

(d) 1rf (—1-2%)’dz Q—\
(e)  None of other choices — e =
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17.  The volume of the solid having base the region bounded by the lines
z
9 = 1—; and y = —14— and z = 0, where the cross sections perpendicular
to the z-axis, are equilateral triangles is

43
(Hint: Area of an equilateral triangle of side s is — (S)z)
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18. Whlch one of the following statements is always True?

.fe d:z:— e dm+[e dx A

Iff f(z)d:c— 0, then f(z) = Oforz € [0, 1]
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(c) /0 2($—:1:2) dz represents the area under the curvey = z—2z” from0 to2

(d)  If f(x) has a discontinuity at 0, then [ !, f(z) dz does not exist

(e) If fis continuous on [a,b] and f(z) > 0, then f () de= f: f(z)dx
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